KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
WELL COMPLETION

## WELL HISTORY - DESCRIPTION OF WELL & LEASE

RECEIVED Form ACO-1 October 2008 Form Must Be Typed SEP 0 8 2009

OPERATOR: License #3532	APINO. 15 - 047-21584-000 WICHITA
Name: CMX, Inc.	Spot Description:
Address 1: 1551 N. Waterfront Parkway, Suite 150	NW _SW _SE Sec. 26 Twp. 26 _S. R. 17 East / West
Address 2:	990 Feet from North / South Line of Section
City: Wichita State: KS Zip: 67206 +	
Contact Person: Douglas H. McGinness II	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 269-9052	□NE □NW MSE □SW
CONTRACTOR: License # 30606	County: Edwards
Murfin Drilling Company Inc	Lease Name: Crockett Well #: A-1
Wellsite Geologist: Douglas H. McGinness II	Field Name: Mull
Purchaser: NA SEP 0 8 2009	Producing Formation: NA
Designate Type of Completion:	Elevation: Ground: 2106 Kelly Bushing: 2118
✓ New Well Re-Entry KCC-WICHITA	Total Depth: 4450 Plug Back Total Depth:
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 490 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator: Well Name:	Drilling Fluid Management Plan P+A AIT I NCR (Data must be collected from the Reserve Pit) 9-17-09
Original Comp. Date: Original Total Depth:	Chloride content:ppm Fluid volume:bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Hauled off
Plug Back: Plug Back Total Depth	
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name: Oil Producers, Inc. of KS
Other (SWD or Enhr.?) Docket No.:	Lease Name: Palmitier SWD License No.: 8061
11/3/2008 11/10/2008 NA 11-10-08	QuarterSec. 16 Twp.25S_S. R. 16 East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Edwards Docket No.: D-20983
of side two of this form will be held confidential for a period of 12 months if req	onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confiden- ell report shall be attached with this form. ALL CEMENTING TICKETS MUST
are complete and correct to the been of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: President Pate: 9/1/2009	Letter of Confidentiality Received
Subscribed and sworn to before me this	er   If Denied, Yes   Date:
$20 \cancel{pq}$ $\bigcirc$	Wireline Log Received
I IMAY YIMAY	Geologist Report Received
Notary Public:	UIC Distribution
Date Commission Expires: 2/7/28/2	
DONNA L. MAY-MURRAY	
My Appt. Expires 27/20/2	

### Side Two

Operator Name: CMX	(, Inc.			Lease i	Name: _	Crockett		<u> </u>	Well #: A-1		
Sec. 26 Twp. 26		☐ East	✓ West	County	Edw	ards		<u> </u>			
INSTRUCTIONS: Sho time tool open and clos recovery, and flow rates surveyed. Attach final	sed, flowing and shu s if gas to surface te	t-in press st, along	ures, whether sl	hut-in pres	sure read	ched static level,	hydrostatic	pressu	ires, bottom h	ole tempe	erature, fluid
Drill Stem Tests Taken (Attach Additional St	heets)	✓ Y	es 🗌 No		√L.	og Formatio	n (Top), Dep	th and	l Datum	s	ample
Samples Sent to Geological Survey  Cores Taken Electric Log Run		□ Y	☐ Yes ☑ No ☐ Yes ☑ No ☑ Yes ☐ No		Nam Heet	e oner Shale			Top 3880		atum   <b>762</b>
						Lansing Pleasanton		4042 4356		-1924 -2238	
(Submit Copy)  List All E. Logs Run:		RE	CEIVED		в/кс	;		1	4386		268
DIL, CNML, G	eo	SE	P 0 8 2009		Marr	naton		 	4393	-2	275
		_		RECORD	✓ Ne	<del>-</del>	ion etc				<del></del>
Purpose of String	Size Hole Drilled	Si	ze Casing t (In O.D.)	Weig Lbs.	ght	ermediate, producti Setting Depth	Type o		# Sacks Used		nd Percent
Surface	12 1/4	8 5/8	.c (111 O.D.)	23#	, , , , ,	490	60/40 P	i	450	•	l, 2% CaCl
			ADDITIONAL	CEMENTII	NG / SQL	JEEZE RECORD					
Purpose:  —— Perforate	Depth Top Bottom	Туре	e of Cement	#Sacks	Used		Туре	and Pe	ercent Additives		
Protect Casing Plug Back TD											
Plug Off Zone											
Shots Per Foot			RD - Bridge Plug						Squeeze Recor	d	
	Specify	Footage of	Each Interval Per	forated		(Ai	mount and Kin	of Mat	erial Used)		Depth
			· · · · · · · · · · · · · · · · · · ·					   			
TUBING RECORD:	Size:	Set At	:	Packer A	t:	Liner Run:	Yes [	□ No			
Date of First, Resumed F	Production, SWD or En	hr.	Producing Meth	nod:	Flowin	g Pumpii	ng 🔲 (	Sas Lift	Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er B	bls.	G	as-Oil Ratio		Gravity
DISPOSITIO	N OF GAS:			METHOD OF	COMPLE	ETION:			PRODUCTION	ON INTER\	/AL:
Vented Sold	Used on Lease		Open Hole	Perf. [	_	_	mmingled				
(If vented, Subr	nit ACO-18.)		Other (Specify)			<del></del>		l			



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

CMX, Inc.

1551 N. Waterfront PKW STE #15

Wichita, KS 67206

Invoice Number: 117029

Invoice Date: Nov 9, 2008

Page:

1

RECEIVED SEP 0 8 2009

## **KCC WICHITA**

CustomerID	Well Name# or Customer P.O.	Payment Terms		
CMX .	Crockett #A-1	Net 30	0 Days	
Job Location	Camp Location	Service Date	Due Date	
KS1	Great Bend	Nov 9, 2008	12/9/08	

Quantity	Item	Description	Unit Price	Amount
87.00	MAT	Class A Common	13.50	1,174.50
58.00	MAT	Pozmix	7.55	437.90
6.00	MAT	Gel	20.25	121.50
36.00	MAT	Flo Seal	2.45	88.20
152.00	SER	Handling	2.25	342.00
57.00	SER	Mileage 152 sx @.10 per sk per mi	15.20	866.40
1.00	SER	Rotary Plug	990.00	990.00
57.00	SER	Mileage Pump Truck	7.00	399.00
ALL 50:050	DENIET DAVABL	Subtotal		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Dec 9, 2008

	· · · · · · · · · · · · · · · · · · ·
Subtotal	4,419.50
Sales Tax	278.43
Total Invoice Amount	4,697.93
Payment/Credit Applied	
TOTAL	4,697.93

# ALLIECCEMENTING CO., LLC. 33403

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

GreatBend

DATE II - C - A CI	SEC.	TWP. <b>255</b>	RANGE 17 W	CALLED OUT	ON LOCA		JOB START  2:00 AM	JOB FINISH  3:00 AM
DATE/1-9-08 CYOCKETT				•		,	COUNTY	SIAIE
LEASE NEWYCii	WELL#	<u>A - /</u>		115 Burg 45	2 4	<u> </u>	EDWards	<u>/                                    </u>
CIII CII	icle one)		SinTo			<u>                                      </u>		
CONTRACTOR A	NUME	in R	9	OWNER 2	XVV	<u> </u>		
TYPE OF JOB R		V PIUS	<i>)</i>					
HOLE SIZE 7 3	8	T.D		CEMENT	oppop /			- 4444
CASING SIZE			PTH				x 60/40	44.GEL
TUBING SIZE	<u>La</u>		PTH PTH	4# F10-	5646			
DRILL PIPE 4.	2		PTH PTH					
PRES. MAX	200		NIMUM 50	COMMON	875x		@ 13,50	1,174,50
MEAS. LINE			DE JOINT	POZMIX	5851	1		437,90
CEMENT LEFT IN	I CSG.		313 3 311 11	GEL	6			121,50
PERFS.				CHLORIDE			@	
DISPLACEMENT	Fres	H Was	ter and mu	ASC			@	
	,	UIPMENT		F10-9ca	36#		@ <u>245</u>	88.20
	24.			****		<u> </u>	. @	
PUMP TRUCK	CEMENT	TER 12 W	aynew		14//	ļ	. @	
	HELPER		dy P			1		
BULK TRUCK	TIGET LIC					1	. @	
	DRIVER	Davi	d J		· · · · · · · · · · · · · · · · · · ·	<u> </u>	_ @ _ @	
BULK TRUCK							@	
#	DRIVER			HANDLING	1525	*		342.00
				MILEAGE _				866,40
	RE	MARKS:		174,4,4,4,4,4,4,4,4,4,4,4,4,4,4,4,4,4,4,				3030.5
F 10							TOTAL	7
505x 1200	1 14	#F10-	seul	GEL 	S	ERVIC	CE	
2054 601					op 10 -			
155x in Th	16/40/	<i>'e</i>		DEPTH OF JO	OR 1200	<del>}</del>		990
losx:nTh	Kmo					<u> </u>	8	990,00
						<u> </u>	_@	399.00
								<u> </u>
+ "-				—— MANIFOLD		]		
						<u> </u>	_	
							_	
CHARGE TO: <u></u>	MX						TOTAL	1,389,00
STREET							IOIAL	1,000
CITY								
CITY		IAIE	ZIF		PLUG & 1	<b>FLOAT</b>	EQUIPMEN	$\mathbf{T}$
"K							@	
x war ou								
To Allied Cemen	ting Co	HC		<del></del>		1		
You are hereby re	_		nentina equipma			1		
and furnish ceme				2110			_ @	
contractor to do								
done to satisfacti							TOTAL	
contractor. I hav				ΔΤ				
TERMS AND C				CALECTAV	(If Any)			<u>.</u>
I ERWIS AND C	OMPTIK	0149 11816	a on the reverse	side.		1		
	_	1 1	•	TOTAL CHA	MVE3			
PRINTED NAME	XA	bert (	adena	DISCOUNT		<u> </u>	IF PAI	D IN 30 DAYS
SIGNATURE _X		1						
SIGNATURE 🖌	$\Delta I$	bent (	adena					
						1		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

CMX, Inc.

1551 N. Waterfront PKW STE #15

Wichita, KS 67206

Invoice Number: 116881

Invoice Date: Nov 4, 2008

Page:

1

CustomerID	Well Name# or Customer P.O.	Payment	Terms
CMX	Crockett #A-1	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Great Bend	Nov 4, 2008	12/4/08

Quantity	Item	Description	Unit Price	Amount
270.00	MAT	Class A Common	13.50	3,645.00
180.00	MAT	Pozmix	7.55	1,359.00
9.00	MAT	Gel	20.25	182.25
13.00	MAT	Chloride	51.50	669.50
472.00	SER	Handling	2.25	1,062.00
57.00	SER	Mileage 472 sx @.10 per sk per mi	47.20	2,690.40
1.00	SER	Surface	991.00	991.00
190.00	SER	Extra Footage	0.75	142.50
57.00	SER	Mileage Pump Truck	7.00	399.00
1.00	SER	Head Rental	110.00	110.00
1.00	EQP	Rubber Plug	110.00	110.00
			REC	EIVED 0 8 <sub>2009</sub> ICHITA
			000	LIALD
			SEP	D 8 2009
			MOO	-500
			VCC N	ICHITA
				,

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1136 06

ONLY IF PAID ON OR BEFORE

Dec 4, 2008

Subtotal	11,360.65
Sales Tax	375.84
Total Invoice Amount	11,736.49
Payment/Credit Applied	
TOTAL	11,736.49

# ALLIED CEMENTING CO., INC.

28929

REMIT TO P.O. BOX 31 SERVICE POINT: . RUSSELL, KANSAS 67665 Great Bend U. RANGE CALLED OUT ON LOCATION JOB START JOB FINISH DATE 11-4-68 ITW 26 1100 PM 300 AM 730 AM 6:30 AM felbobura south COUNTY 2 East Edwar LEASE OLD OR NEW (Circle one) Ris CONTRACTOR MUNTIN **OWNER** cmy TYPE OF JOB Sur Age 1000 **CEMENT** HOLE SIZE 12 4 AMOUNT ORDERED 750 Sx 69/40 3% CC CASING SIZE & 54 DEPTH W 190 2% Ge1 **TUBING SIZE** DEPTH **DRILL PIPE DEPTH** TOOL **DEPTH** 270 <u>MINIMU</u>M @ 13,50 3645,00 PRES. MAX COMMON 180 MEAS. LINE **SHOE JOINT** POZMIX @<u>7.55</u>\_1359.co @2025 182.25 CEMENT LEFT IN CSG GEL **CHLORIDE** PERFS. @ <u>51,50</u> (49,50 DISPLACEMENT 29 2 ASC (a) **EQUIPMENT @** @ CEMENTER ware - 0 **PUMP TRUCK** @ HELPER AWIN - R # 366 @ **BULK TRUCK** @ # 344 - 176 DRIVER @ **BULK TRUCK DRIVER** HANDLING 412 MILEARECEIVED X 57 X.10 313040 TOTAL 968.15 **REMARKS:** SEP 0 8 2009 Pipe on bottom Break ci Mix 450 5x 60/40 3% (C 2% GE) SERVICE **KCC WICHITA** Shut Down Release Plug Displace with 29'z BBLS Displace DEPTH OF JOB 191,00 HAZM Comeint Old PUMP TRUCK CHARGE wash up Ris Down EXTRA FOOTAGE 190 142.50 (a) MILEAGE 57 @ MANIFOLD \_ Head Rent @ 110,60 @ CHARGE TO: C MY TOTAL 1642,50 STREET \_\_\_\_\_ \_ STATE \_  $_{\rm ZIP}$ PLUG & FLOAT EQUIPMENT Rubbe- Plus @ 110,00 @ To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was TOTAL 110.00 done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND TAX\_ CONDITIONS" listed on the reverse side. TOTAL CHARGE \_ DISCOUNT - IF PAID IN 30 DAYS PRINTED NAME